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QUESTION 1

You execute this command: 

Which two statements are true about the SALES tablespace? (Choose two.) 

A. The FREELISTS and FREELIST GROUPS parameters are used to manage extent allocation. 

B. It is read-only by default. 

C. DML operations performed on objects in this tablespace are not logged by default. 

D. It uses the default blocksize used at database creation. 

E. It is a locally managed tablespace. 

F. It is offline by default. 

Correct Answer: AD 

 

 

QUESTION 2

Which two are prerequisites for shrinking a table online? 

A. It must have a unique key constraint. 

B. It must not have any referential integrity constraints. 

C. It must not have any DML triggers. 

D. It must be in a tablespace that uses Automatic Segment Space Management (ASSM) . 

E. It must have row movement enabled. 

Correct Answer: AB 

 

QUESTION 3

Examine the command: 
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Which two are true? (Choose two.) 

A. The PASSWORD EXPIRE clause is invalid because passwords are controlled by the HR_USER profile. 

B. USER1 requires a quota to be able to store objects in the default permanent tablespace. 

C. USER1 will be prompted for a new passport at first login. 

D. A quota on the temporary tablespace must be specified to enable USER1 to perform queries and transactions. 

E. USER1\\'s account is locked. 

Correct Answer: BD 

 

 

QUESTION 4

Which three statements are true about an spfile? (Choose three) 

A. It contains only static initialization parameters. 

B. It is the first file processed at instance startup. 

C. It can be edited by SYS when the database instance is shut down. 

D. It must exist for a database instance to start. 

E. It can be used to create a pfile. 

F. It contains initialization parameters whose values can be changed using the ALTER SYSTEM command. 

Correct Answer: DEF 

Reference: https://oracle-base.com/articles/9i/persistent-initialization-parameters 

 

QUESTION 5

Your database instance was shut down normally and then started in NOMOUNT state. You then execute this
command: 

Latest 1Z0-072 Dumps | 1Z0-072 PDF Dumps | 1Z0-072 Study Guide                                3 / 8

https://www.pass4itsure.com/1z0-072.html
https://www.pass4itsure.com/1z0-072.html
https://www.pass4itsure.com/1z0-072.html


https://www.pass4itsure.com/1z0-072.html
2024 Latest pass4itsure 1Z0-072 PDF and VCE dumps Download

Which two actions are performed? (Choose two.) 

A. The control file is read. 

B. The online data files are opened. 

C. The online redo logs are opened. 

D. The Oracle background processes are started. 

E. The alert log records the execution details. 

F. The initialization parameter file is read. 

Correct Answer: AD 

 

 

QUESTION 6

Which two are true about the roles? (Choose two.) 

A. All privileges and roles granted to a user are enabled by default when the user logs in. 

B. The SET ROLE statement can be used once per session. 

C. The SET ROLE statement enables as well as disables roles in a session. 

D. A role must be disabled before it can be revoked from a user. 

E. The ALTER USER statement must be used to set specific default roles for a user. 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_10004.htm 

 

QUESTION 7

In a database, the default temporary tablespace is TEMP and USER1\\'s default tablespace is DATA. Examine these
parameters: 

Latest 1Z0-072 Dumps | 1Z0-072 PDF Dumps | 1Z0-072 Study Guide                                4 / 8

https://www.pass4itsure.com/1z0-072.html
https://www.pass4itsure.com/1z0-072.html
https://www.pass4itsure.com/1z0-072.html


https://www.pass4itsure.com/1z0-072.html
2024 Latest pass4itsure 1Z0-072 PDF and VCE dumps Download

Which tablespace stores UNDO generated by USER1\\'s DML on temporary tables? 

A. DATA 

B. SYSTEM 

C. SYSAUX 

D. TEMP 

E. UNDOTBS1 

Correct Answer: D 

 

 

QUESTION 8

Which is true about unexpired undo? 

A. It is required when a transaction rolls back. 

B. It may be used to support flashback queries. 

C. It consists of undo only for uncommitted transactions. 

D. It is always retained for the time specified in UNDO__RETENTION. 

E. It is the first type of undo overwritten when trying to avoid out-of-space errors. 

Correct Answer: D 

 

QUESTION 9

Which is true about revoking roles? 

A. Only users who are granted the DBA role can revoke a role. 

B. Only users who are granted SYSDBA can revoke a role. 

C. Users who have the GRANT ANY ROLE privilege can revoke any role. 
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D. Users who are granted a role with ADMIN OPTION can revoke that role only from users to whom they have granted
the role. 

E. Users can revoke a role that is granted to them through other roles. 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/B28359_01/network.111/b28531/authorization.htm#DBSEG97970 

 

QUESTION 10

What three are true about Oracle Flashback technology? (Choose three.) 

A. FLASHBACK TRANSACTION can be used to undo the changes made by a committed transaction. 

B. FLASHBACK TABLE can be used to rewind a table back in time. 

C. FLASHBACK DATABASE can be used to rewind a database back and forth in time. 

D. FLASHBACK TABLE can be used to undo dropping a column from a table. 

E. FLASHBACK QUERY can be used to view committed data at any given point in time. 

Correct Answer: ACD 

 

QUESTION 11

Which two statements are true about VSTABLESPACE and DBA_ TABLESPACE? 

A. VSTABLESPACE cab be queries by all users, but DBA_ TABLESPACEs cab be queries only by SYSDBA users. 

B. VSTABLESPACE is a dynamic view that is populated with data from th DBA_ TABLESPACE dictionary view. 

C. VSTABLESPACE is a dynamic view that is populated with data from the DBA_ TABLESPACES data queried only
when a database is open. 

D. VSTABLESPACE and DBA_ TABLESPACES are view based on base tables in the data dictionary. 

E. VSTABLESPACE metadata is lost at shutdown, but DBA_ TABLESPACE metadata persists across shutdowns. 

Correct Answer: DE 

 

QUESTION 12

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete. 

You want to verify this. 

Which view reveals on what events a session has spent time waiting in the past? 
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A. V$SESSION_WAIT_CLASS 

B. V$SYSTEM_EVENT 

C. V$SESSION 

D. V$SESSION_EVENT 

E. V$SESSION_WAIT 

Correct Answer: C 

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning 

 

QUESTION 13

You want to use table compression suitable for OLTP that will: 

1. 

Compress rows for all DML statements on that table 

2. 

Minimize the overheads associated with compression. 

Which compression option is best suited for this? 

A. COLUMN STORE COMPRESS FOR ARCHIVE HIGH 

B. ROW STORE COMPRESS ADVANCED 

C. COLUMN STORE COMPRESS FOR ARCHIVE LOW 

D. ROW STORE COMPRESS BASIC 

E. COLUMN STORE COMPRESS FOR QUERY LOW 

Correct Answer: B 

Reference: https://www.oracle.com/technetwork/database/options/compression/advanced-
compressionwp-12c-1896128.pdf%20(6) 

 

QUESTION 14

Which three types of files are created by expdp operations? (Choose three.) 

A. SQL files 

B. dump files 

C. reject files 
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D. log files 

E. input data files 

F. bad files 

G. control files 

Correct Answer: ABD 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28319/dp_export.htm#g1022624 

 

QUESTION 15

Which three types of files are used by conventional path SQL*Loader when the TABLE option is not specified? (Choose
three.) 

A. control files 

B. bad files 

C. input files 

D. password files 

E. server parameter files (SPFILE) 

F. dump files 

Correct Answer: BCD 
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